4 ‘ 3

THIS DRAWING IS UNPUBLISHED. RELEASED FOR PUBLICATION 20 REVISIONS
© COPYRIGHT 20 BY - AT THOTTS RESERVED. P LTR DESCRIPTION DATE DWN APVD
A INITIAL RELEASE LAPR2075 | GY |CW
5| B ECR-15-013759 27SEP2015 |DW [ CW
- — B1 | ECR-16-011988 264062016 | YO [CW
V| 77 N\ C ECR-18-016778 12N0V2018 | GY  |[(W
SN
cO
| O=0
3 I J
NOTES :
- TECHNICAL CHARACTERISTICS:
TYPE 1,T2040062101-000,WITH LOGO | INSULATION MATERIAL: PC
#8 | T2040062101-000,#L0GO RATED VOLTAGE: 500V
RATED CURRENT: [6A
INSULATION RESISTANCE: >=400MQ)
M4 SCREW, RECOMMENDED 6X M3 SCREW, RECOMMENDED RATED IMPULSE VOLTAGE: 6KV
TIGHTENING TORQUE I.2Nm TIGHTENING TORQUE 0.5Nm POLLUTION DEGREE: 3
M4 #ESEAE | 2Nm 6X M3%&, #EaEAE0  SNm FLAMMABILITY: UL94V-0
MATING CYCLES: 500 CYCLES
= N WIRE RANGE: 0.5mm2~2.5mm2 (AWG20-AWGI4)
| .

@
3

1
.

CONTACT TYPE:

SCREW CLAMP (M3)

- | N N I I . : I B
‘ i | | | mAsH:
= N . ‘ wsgih: PO
S - o mreE: 500V
\ e | 0A
mwgwE . >=400M()
g 6KV
FERER 3
4X M3 SCREW,RECOMMENDED EaEg: UL94V-0
5 35 - TIGHTENING TORQUE 0O.5Nm wRas: 500 %
4AX M38% ##4%440 . SNm #4E: 0. 5mm2~2.5mm2 (AWG20-AWGI4)
i BEAA . BuEE (M3)
O o f '_H)r f
12 A vy
j + : % - ) o
o ] ‘ [
Q
o X,
o
v
L- 44 - g
O
PANEL CUT FOR INSEFRTS FOR USE THIS DRAWING IS A CONTROLLED DOCUMENT. |OWN 4APR201
CHSINO LAD - TE TE Connectivity
WITHOUT HOODS/ HOUSINGS 4APR2015 —
M R 4P 5 it S 5 o s T3 DIMENSIONS: TOLERANCES UNLESS CHRIS WANG
OTHERWISE SPECIFIED: | APVD AAPR2015 [name
i XTANG XUl HE-006-M
0 PLC 1. PRODUCT SPEC
@E}{::::}; eI 108-137044
3 PLC =+ - APPLICATION SPEC
iNGPLLECS + - .. 1 1 47 1 37044 SIZE CAGE CODE | DRAWING NO RESTRICTED TO
WRTERTAL FINISH ] WETGHT - A300779@ET2040062101000 -

CUSTOMER DRAWING

SCALE

SHEET oF REV C

o] | 2

1470-19 (3/13)




4

? 1
THIS DRAWING IS UNPUBLISHED. RELEASED FOR PUBLICATION REVISIONS
<:> COPYRIGHT 20 BY - AT THOTTS RESERVED. P LTR DESCRIPTION DATE DWN APVD
SEE SHEET 1
NOTE :
ALL SPEC REFER TO TYPE |
VEZ N
TYPE 2,T2040062101-001,WITHOUT LOGO, FRrEARSE TYPE |
UNDEFINED DIMENSIONS REFER TO ITEM 1.
28 2, 72040062101-001, R LOGO, kERTEHEXA |
i ) ) HE-006 MALE INSERT
T2040062101-000 HE-006-M HE-006 i TYPE 1
i ) ) HE-006 MALE INSERT,WITHOUT LOGO
T2040062101-001 HE-006-M HE-006 2% £L0GO TYPE 2
PART NUMBER PART DESCRIPTION TYPE
# o # i %8
THIS DRAWING IS A CONTROLLED DOCUMENT. |OWN 4APR20TS
CH%INO TAQ AAPR?201T5 () TE TE COﬂﬂeCMva
DIMENSIONS: OTTHOELREWRIASNECESSPEUQNILFEISESD- AP%DHRIS WANGAAPREOWS NAVE
mm  LXTANG XU HE-006-M
0 PLC 1 PRODUCT SPEC
@E}{::::}; o1 108-137044
3 PLC +- APPLICATION SPEC
iNgtég +- . ww 4771 3—70 414 SIZE CAGE CODE | DRAWING NO RESTRICTED TO
MATERTAL FINISH WEIGHT B

1470-19 (3/13)

A 3100779(C=T2040062101000

CUSTOMER DRAWING

SCALE

|

1

SHEET

OF

REV
C




Mouser Electronics

Authorized Distributor

Click to View Pricing, Inventory, Delivery & Lifecycle Information:

TE Connectivity:
T2040062101-001



https://www.mouser.com/TE-Connectivity
https://www.mouser.com/access/?pn=T2040062101-001

	Sheet 1
	Views
	new_view_1
	底部_3
	new_view_4
	new_view_6
	left_7
	top_8


	Sheet 2
	Views
	new_view_15
	new_view_17
	top_18
	left_19
	bottom_20



